Ограничение по времени на каждое задание: 15 сек.
	Задание
	Ввод
	Вывод

	Задание 1 площадь
	N=1
	100

	
	N=7
	393.7744…

	
	N=17
	399.99389…

	Задание 2
длина
	N=15
	83010

	
	N=150
	98690

	
	N=12345
	44930

	
	N=456789
	83330

	Задание 3A
дубликаты
	8.xml
	3

	
	9.xml
	247

	
	10.xml
	1023

	
	15.xml
	255

	
	18.xml
	972

	Задание 3B
фрактал 
в XML
	N=2
	2.xml, 4.xml, 5.xml

	
	N=3
	6.xml

	
	N=4
	16.xml, 7.xml

	
	N=5
	12.xml

	Задание 4
пересечение
	A=10 B=−1 N=4
	4

	
	A=2 B=2 N=5
	26

	
	A=1 B=0 N=3
	21

	
	A=1 B=3 N=5
	35

	
	A=−5 B=0 N=4
	15


